
 MOCK-1
1. Which of the fol low ing in ter change of signs

would make the equa tion cor rect?
8 6 2 22
keâewve mes efÛeÖeW keâer Deouee-yeouee meceerkeâjCe keâes mener yeveeSieer?
8×6+2=22
(a) +, ×, 2 and 6 (b) +, ×, 2 and 8
(c) , ,6 and 8 (d) , ,2 and 22

Direction (2) : In the following question, some equations are
solved on the basis of certain system. Findout the correct answer
for the unsolved equaltion on that basis.
efveoxMe (2) : efvecveefueefKele ØeMve ceW kegâÚ meceerkeâjCe Skeâ efJeMes<e ØeCeeueer
kesâ DeeOeej hej nue efkeâS ieS nQ~ Gmeer DeeOeej hej Devegòeefjle meceerkeâjCe
keâe mener %eele keâerefpeS~

2. 2 × 4 × 6 = 4;9 × 3 × 7 = 13;
4 × 7 × 6 = 3; 9 × 7 × 8 = ?
(a) 10 (b) 09 (c) 08 (d) 07

Direction (c) : In the following question, select the missing number
from the given responses:
efveoxMe (c) : eqvecveefueefKele ØeMve ceW efoS ieS GòejeW ceW mes ueghle mebKÙee %eele
keâerefpeS~

3. 7 8 5

6 9

2 3 6

84 216 900

?

(a) 90 (b) 70 (c) 65 (40) 30

Direction (4-5) : In each of the following question, select the
related word/letters/ numbers from the given alternatives.
efveoxMe (4-5) : efvecveefueefKele ØeMveeW kesâ efoS ieS efJekeâuheeW ceW mes mebyebefOele
Meyo/De#ejeW/mebKÙee ÛegefveS~

4. SO CIAL : OCIALS : : DRIVEN : ?
(a) VENRID (b) NEVIRD
(c) RIVEND (d) VIREND

5. 1
8

1
64

1
16

1
: :: :

?
(a)128 (b)126 (c) 144 (d) 132

Directions (6-8) : In each of following questions, find the odd
word/number/letters/number pair from the given alternatives.
efveoxMe (6-8) : efvecveefueefKele ØeMveeW ceW efoS ieS efJekeâuheeW ceW mes efJe<ece
Meyo/De#ejeW/ mebKÙee ÛegefveS~

6. (a) Square / Jeie& (b) Trepezium / meceuecye
(b) Cyl in der / yesueve
(d) Par al lel o gram/meceeveevlej ÛelegYeg&pe

7. (a) 42:4 (b) 48:6
(c) 32:2 (d) 15:5

8. (a) Year 2012 (b) Year 1998
(c) Year 2005 (d) Year 1997

9. If a num ber is greater than 5 but less than 9
and greater than 7 but less than 11, the num ber
is
Ùeefo Skeâ mebKÙee 5 mes DeefOekeâ uesefkeâve 9 mes keâce nes Deewj 7 mes
DeefOekeâ uesefkeâve 11 mes keâce nes, lees mebKÙee keäÙee nw?
(a) 5 (b) 6 (c) 7 (d) 8

10. In a row, 25 trees are planted at equal dis tance
from each other. the dis tance be tween 1st and
25th tree is 30 m. what is the dis tance be tween
3rd and 15th tree?
Skeâ hebefòeâ ceW, 25 Je=#e Skeâ otmejs mes meceeve otjer hej ueieeS ieS nQ~
henues Deewj 25 JeW Je=#e kesâ yeerÛe keâer otjer 30 ceeršj nw~ leermejs Deewj 15 JeW
Je=#e kesâ yeerÛe keâer otjer keäÙee nw?
(a) 8m /ueeršj (b) 15m/ueeršj
(c) 16 m /ueeršj (c)18m /ueeršj

Direction (11) : In the following question, from the given
alternative words, select the word which cannot be formed using
the letters of the given word:
efveo&Me (11) : efvecveefueefKele ØeMve ceW efoS ieS efJekeâuheeW ceW mes Jen Meyo
ÛegefveS pees efoS ieS Meyo kesâ De#ejeW keâe ØeÙeesie keâjkesâ veneR yeveeÙee pee
mekeâlee :

11. IN STI TU TION AL ISE
(a) NUTRITION (b) INTUTION
(c) TUITION (d) INSULATION

12. In a cer tain code, TRI PLE is writ ten as SQHOKD.
How is DIS POSE writ ten in that code?
Skeâ ketâš Yee<ee ceW, TRI PLE keâes SQHOKD efueKee peelee nw~
Gme ketâš Yee<ee ceW DIS POSE keâes efkeâme Øekeâej efueKee peeSiee ?
(a) CHRONRD (b) DSOESPI
(c) ESJTPTE (d) ESOPSID

13. If MONKO is coded as 57637, then how
KLJMN be coded in the same code?
Ùeefo Skeâ ketâš Yee<ee ceW MONKO keâes 57637 efueKee peelee nQ, lees
Gmeer ketâš Yee<ee KLJMN keâes efkeâme Øekeâej efueKee peeSiee?
(a) 32456 (b) 34256
(c) 35156 (d) 32546

14. Anand trav els 10 kms from his home to the east
to reach his school. Then he trav els 5 kms to the
south to reach his fa ther's shop, af ter school He
then trav els 10 kms to the west to help his un cle.
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How far and in which di rec tion is he from his
home?
Deevevo Deheves Iej mes efJeÅeeueÙe hengBÛeves kesâ efueS hetjye keâer Deesj 10
efkeâceer. Ùee$ee keâjlee nw, efheâj efJeÅeeueÙe kesâ heMÛeeled Deheves efhelee keâer ogkeâeve
hej hengBÛeves kesâ efueS oef#eCe keâer Deesj 5 efkeâceer. Ûeuelee nw efheâj Jen Deheves
ÛeeÛee keâer ceoo keâjves kesâ efueS heefMÛece keâer Deesj 10 efkeâceer. peelee nw~ Jen
Deheves Iej mes efkeâleveer otjer hej leLee efkeâme efoMee ceW nw?
(a) 10 kms North/ efkeâceer. Gòej
(b) 5 kms South/ efkeâceer. oef#eCe
(c) 5 kms East/ efkeâceer. hetjye
(d) 10 kms West/ efkeâceer. heefMÛece

Direction (15): In the following question, among four answer
figures whose cut pieces can form the given question figure?
efveoxMe (15) : eqvecveefueefKele ØeMve ceW efoS ieS Ûeej Gòej Deeke=âefleÙeeW ceW mes
efkeâmeceW efoS šgkeâÌ[eW mes oer ieF& ØeMve Deeke=âefle keâes yeveeÙee pee mekeâlee nw?

15. Ques tion Fig ure/ØeMve Deeke=âefle :

An swer Fig ure/Gòej Deeke=âefleÙeeb

Direction (16) : In each of the follwoing questions, which of the
following Venn diagrams best represents relation between given
classes?
efveoxMe (16) : efvecveefueefKele Jesve DeejsKeeW ceW mes keâewve mee JeieeX kesâ yeerÛe
mecyevOe keâe mener efve™heCe keâjlee nw?

16. Hu mans, Birds, An i mals

(a) (b)

(c) (d)

17. From the given an swer fig ures, se lect the one in
which the ques tion fig ure is hid den/ em bed ded.
oer ieF& Gòej Deeke=âefleÙeeW ceW mes Gme Gòej Deeke=âefle keâes ÛegefveS efpemeceW
ØeMve Deeke=âle efveefnle nw~
Ques tions Fig ure/ØeMve Deeke=âefle

An swer Fig ure/Gòej Deeke=âefleÙeeB

18. A piece of pa per is folded and cuts as shown
be low in the ques tion fig ures. From the given

an swer fig ures, in di cate how it will ap pear when
opened.
veerÛes ØeMve Deeke=âefleÙeeW ceW efoKeeS Devegmeej keâeiepe keâes ceesÌ[keâj
keâešves leLee Keesueves kesâ yeeo Jen efkeâme Gllej Deeke=âefle pewmee efoKeeF&
osiee?

Direction (19) : In the following question, one statement is given,
followed by two assumptions, I and II. you have to consider the
statement to be true, even if it seems to be at variance from
commonly known facts. You have to decide which of the given
assumptions, if any, follows from the given statement.
efveoxMe (19) : efvecveefueefKele ØeMve ceW Skeâ keâLeve efoÙee ieÙee nw efpemeceW
Deeies oes hetJee&vegceeve I Deewj II efvekeâeues ieS nQ~ Deehekeâes ceevevee nw efkeâ keâLeve
melÙe nw Ûeens Jen meeceevÙeleŠ %eele leLÙeeW mes efYeVe Øeleerle neslee nes~Deehekeâes
efveCe&Ùe keâjvee nw efkeâ efoS ieS hetJee&vegceeve ceW mes keâewve-mes efveefMÛele ®he mes
keâLeve Éeje mener efvekeâeuee pee mekeâlee nw~/mekeâles nQ, Ùeefo keâesF& nes~

19. State ment / keâLeve:
The impace of eco nomic sanc tions on econ omy, that is
al ready so weak could be dev as tat ing.
Ssmeer DeLe&JÙeJemLee hej pees henues mes ner keâeheâer keâcepeesj nes, DeeefLe&keâ
MeeefmleÙeeW keâe ØeYeeJe efJeOJebmekeâejer nes mekeâlee nw~

As sump tions /hetJee&vegceeve:
I. Eco nomic sanc tions im pact only a weak

econ omy.
DeeefLe&keâ MeeefmleÙeeB kesâJeue keâcepeesj DeLe&JÙeJemLeeDeeW keâes ØeYeeefJele
keâjleer nQ~

II. The im pact eco nomic sanc tions var ies from econ omy
to econ omy.
DeeefLe&keâ MeeefmleÙeeW keâe ØeYeeJe efYeVe-efYeVe DeLe&JÙeJemLeeDeeW hej
efYeVe-efYeVe neslee nw~

(a) Only II is im plicit/ kesâJeue II mener nw~
(b) Nei ther I nor II is are im plicit / ve I mener nw Deewj ve II
(c) Both I and Ii im plicit / I Deewj II oesveeW mener nQ
(d) Only I is im plicit/ kesâJeue I mener nw

20. Which one set of let ters when se quen tially
placed at the gaps in the given let ter se ries shall
com plete it?
De#ejeW keâe keâewve-mee mecetn Keeueer mLeeveeW hej ›eâceJeej jKevesmes oer
ieF& Deewj ëe=bKeuee keâes hetje keâjsiee?
_aabb_a_ab_b
(a) a b b b (b) a b a b (b) b b a a (b)b a b a

21. On ar rang ing Atomic Age, Me tal lic Age, Stone
Age, AlloyAge in a mean ing ful or der (start ing
from the ear li est) which ap pear in the 3rd
po si tion?
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hejceeCeg Ùegie, OeeeflJekeâ Ùegie, Øemlej (hee<eeCe) Ùegie Deewj efceßeOeeleg
Ùegie keâes (meyemes ØeejbYe mes Meg™ keâjles ngS ) Ùeefo meeLe&keâ ›eâce ceW jKe
peeS, lees leermejs mLeeve hej keâewve-mee Ùegiee nesiee?
(a) Al loy Age/ efceßeOeeleg Ùegie (b) Stone Age/ OeeeflJekeâ Ùegie
(c) Metalic Age/ OeeeflJekeâ Ùegie (d) Atomic Age hejceeCeg Ùegie

22. A word is rep re sented by only one set of num bers
as given in any one of the al ter na tives. the sets of

num bers given in the
al ter na tives are reprsented by two classes of
al pha bets as in two ma tri ces given be low. the
col umns and rows of Ma trix II are num bered
from 0 to 4 and that of Ma trix II are num bered
form 5 to 9. A let ter form these ma tri ces can be
rep re sented first by its now and next by its
col umn, e.g., 'A' can be rep re sented by 03,12 etc.,
and 'N' can be rep re sented by 56, 65 etc.
Sim i larly, you have to iden tify the set for the
word 'DRAW'
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee efkeâ
efJekeâuheeW ceW mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW ceW efoS ieS
mebKÙee-mecetn De#ejebs kesâ oes Jeiee&W Éeje oMee&S ieS nQ, pesmee efkeâ veerÛes
efoS ieS oesDeeJÙetneW ceW nQ~ DeeJÙetn I kesâ mlecYe Deewj hebefkeäle keâer mebKÙee 0
mes 4 ceW oer ieF& nw Deewj DeeJÙetn II keâer 5 mes 9 Fve DeeJÙetneW mes Skeâ De#ej
keâes henues Gmekeâer hebefkeäle Deewj yeeo ceW mlecYe mebKÙee Éeje oMee&Ùee pee
mekeâlee nw~ GoenjCe kesâ efueS ' 'A  keâes 03 12,  Deeefo Éeje oMee&Ùee pee
mekeâlee nw leLee ' 'N  keâes 56 65,  Deeefo Éeje oMee&Ùeee pee mekeâlee nw~ Fmeer
lejn mes Deehekeâes ØeMve ceW efoS ieS Meyo 'DRAW' kesâ efueS mecetn keâes
henÛeevevee nw~

(a) 14, 89, 12, 78 (b) 41, 66, 23, 55
(c) 32, 75, 44, 76 (d) 23, 57, 30, 68

23. Find wa ter im age of :
peue-heÇefleefyecye %eele keâjW

Ques tion Fig ure/ ØeMve Deeke=âefle:
(a) (b)

(c) (d)

24. A piece of pa per is folded and punched as shown
be low in the ques tion fig ures. From the given
an swer fig ures, in di cate how it will ap pear when
opened.
veerÛes ØeMve Deeke=âefleÙeeW ceW efoKeeS Devegmeej keâeiepe keâes ceesÌ[keâj
Úsoves leLee Keesueves kesâ yeeo Jen efkeâme Gòej Deeke=âefle pewmee efoKeeF& osiee?
Ques tion Fig ure/ØeMve Deeke=âefleÙeeB:

An swer Fig ures/Gòej Deeke=âefleÙeeB

25. Iden tify the an swer fig ure from which the
ques tion fig ure have been cut.
Jen Gòej-Deeke=âefle yeleeSB efpeveceW mes ØeMve-Deeke=âefle ceW efoS ieS
DebMe keâešs ieS nQ~
Ques tion Fig ure/ØeMve Deeke=âefle:

An swer Fig ures/Gòej Deeke=âefleÙeeB

 GENERAL ANSWRENESS
26. Which amont the fol low ing are the South ern most

Hills?
efvecveefueefKele ceW keâewve-mee oef#eCe keâer heneÌ[er nQ?
(a) Cardamon Hills / FueeÛeÙeer heneÌ[er
(b) Javadi Hills / peJeeoer heneÌ[er
(c) Nallamalai Hills/veueceuee heneÌ[er
(d) Nilgiri Hills/peJeeoer heneÌ[er

27. 24 Tirthankaras are in _____Re li gion.
24 leerLe&keâj______Oece& ceW nw~
(a) Jainism / pewve Oece& (b) Bud dhism / yeewæ Oece&
(c) Hin du ism / efnvog Oece& (d) Sikh ism / efmeKe Oece&

28. The cit i zens of In dia do not have which of the
fol low ing Fun da men tal Rights?
Yeejle kesâ veeieefjkeâ kesâ heeme efvecveefueefKele ceW mes keâewve-mee-ceewefuekeâ
DeefOekeâej veneR nw?
(a) Right to re side and set tle in any part of In dia. / Yeejle kesâ

efkeâmeer Yeer Yeeie ceW jnves Deewj JÙeJeefmLele nesves keâe DeefOekeâej
(b) Right to ac quire, hold and dis pose prop erty/mebheefòe kesâ

DeefOe«enCe, DeefOekeâej Deewj yesÛeves keâe DeefOekeâej
(c) Right to prac tice any pro fes sion / efkeâmeer Yeer JÙeJemeeÙe ceW

DeYÙeeme keâjves keâe DeefOekeâej
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(d) Right to form co op er a tive so ci et ies. / menkeâejer meefceefleÙeeW
keâes yeveeves keâe DeefOekeâej

29. Commercila pa per is a source of credit for which
one of the fol low ing
JeeefCepÙekeâ he$e efvecve ceW mes efkeâme Skeâ ›esâef[š keâe Œeesle nQ?
(a) Cor po rate In dus try/ keâeheexjš GÅeesie
(b) Small In dus try / ueIeg GÅeesie
(c) Com mer cial Bank / JeeefCepÙekeâ yeQkeâ
(d) For eign Bank/efJeosMeer yeQkeâ

30. In 2015, No ble prize win ner for Phys ics is 2018
ceW, Yeeweflekeâer kesâ efueS, veesyeue hegjmkeâej kesâ efJepeslee nw~
(a) Hiroshi Amano/efnjesMeer DeceeveeW
(b) takaaki Kajita/leekeâekeâer keâepeerlelee
(c) Isamu Akasaki/FmceeT Dekeäkeâekeâer
(d) Makoto Kobayashi/cekeâeslees keâesyeeÙeMeer

31. What is or a cle?
(a) A Co-or di na tion sys tem / Skeâ mecevJeÙe ØeCeeueer
(b) World Softwere / Jeu[& mee@heäšJesÙej
(c) Da ta base softwere / [ešeyesme mee@heäšJesÙej
(d) All of the these / GheÙeg&òeâ meYeer

32. Enerally in sects re spire through
Deceleewj hej keâerÌ[s meeBme uesles nwb-
(a) skin / lJeÛee Éeje (b) gill / ieueheâÌ[es Éeje
(c) lung / hesâheâÌ[es Éeje (d) spi ra cle / MJeemejbOeÇ Éeje

33. Nu clear fis sion is caused by the im pact of
hejceeCeg efJeKeC[ve efkeâme ØeYeeJe kesâ keâejCe neslee nw?
(a) pro ton / Øeesše@ve (b) elec tron / Fueskeäš^e@ue
(c) neu tron / vÙetš^e@ve (d) none of these /

34. Which of the fol low ing types of light are strongly
ab sorbed by plants?
ØekeâeMe keâe efvecveefueefKele ceW mes keâewve jbie heewOees Éeje DeefOekeâ DeJeMeesef<ele
neslee nw?
(a) Vi o let and or ange / yeQieveer Deewj veejbieer
(b) Blue and red / veeruee Deesj ueeue
(c) In digo and Yel low / Fefv[iees (ienje veeruee) Deewj heeruee
(d) Yel low and vi o let / heeruee Deewj yeQieveer

35. What is TCP/IP ?
TCP/ IP keäÙee nw?
(a) Sys tem Soft ware / Dee@hejsefšbie mee@heäšJesÙej
(b) Pro to cols / Øeesšeskeâe@ue
(c) Op er at ing Sys tem / Dee@hejsefšbie efmemšce
(d) De vice Driver / ef[JeeFme [^eFJej

36. Match List I with List II and se lect the cor rect
an swer us ing the codes given be low the lists.
metÛeer I Deewj metÛeer II keâe efceueeve keâerefpeS Deewj veerÛes efoS ieS ketâš keâe
ØeÙeesie keâjkesâ mener Gòej keâe ÛegveeJe keâerefpeS~

List I (Bat tle)/metÛeer I (ÙeÏæ) List II
(Year)/metÛeer II

(Je<e&)

A. First Bat tle of Panipat/henuee heeveerhele Ùegæ 1. 1565

B. Battale of Plassey/hueemeer Ùegæ 2. 1526

C. Bat tle of Haldighait/nuoerIeešer Ùegæ 3. 1757

D. Bat tle of Talikota/leeefuekeâesš keâe Ùegæ 4. 1576

Codes / ketâš
A B C D

(a) 2 3 4 1
(b) 2 4 3 1
(c) 1 4 3 2
(d) 1 3 4 2

37. Which one of the fol low ing or gani sa tions is
re lated with NAMA?
efvecveefueefKele ceW mes keâewve-mee mebie"ve NAMA mes mebyebefOele nQ?
(a) IMF/ DeeF& Sce Sheâ
(b) World Bans / efJeMJe yeQkeâ
(c) WTO / efJeÕe JÙeeheej mebie"ve
(d) IFC / DeeF& Sheâ meer

38. Kayakalp Coun cil, of ten seen is news if re lated to
which of the fol low ing?
ØeeÙe: meceeÛeejeW jnves Jeeueer ‘keâeÙeekeâuhe heefj<eo’ efvecveefueefKele ceW
mes efkeâmemes mebyebefOele nw?
(a) Min is try of Ag ri cul ture / ke=âef<e ceb$eeueÙe
(b) Min is try of Com merce and In dus try/JeeefCepÙe Deewj GÅeesie

ceb$eeueÙe
(c) Min is try of Rail ways / jsue ceb$eeueÙe
(d) Min is try if De fence /  j#ee ceb$eeueÙe

39. Which of the fol low ing hor mone  is called
emer gency hor mone?
efvecveefueefKele ceW mes efkeâme neceexve keâe Deeheelekeâeueerve necee&sve keâne peelee
nQ?
(a) In su lin / Fbmegefueve (b) Adren a line/Sef[^vewefueve
(c) Oes tro gen / Dee@mš^espeve (d) Oxytocin/Dee@keämeerše@efmeve

40. The stan dard of liv ing in a coun try is rep re sented
by its
efkeâmeer osMe kesâ peerJeve-mlej keâes efkeâmes Éeje ØeefleefveOelJe efkeâÙee peelee nQ?
(a) Pov erty Ra tio / iejeryeer Devegheele
(b) Per Ca pita In come / Øeefle JÙeefkeäle  DeeÙe
(c) Na tional In come / je<š^erÙe DeeÙe
(d) Un em ploy ment Rate / yesjespeieejer oj

41. Which one of the fol low ing is gen er ally found in
sed i men tary rocks?
meeceevÙele: leueÚšer ÛešddševeeW ceW efvecve ceW mes keäÙee heeÙee peelee nQ?
(a) Ba salt / yesmeeuš (b) Sil ica / efmeefuekeâe
(c) Shale / Mewue
(d) Mag ne sium /  cewiveerefMeÙece

42. Which one of the fol low ing bio re serves of In dia
is not in cluded in the world Net work of
Bio sphere Re serve?
Yeejle ceW efvecveefueefKele ceW mes keâewve-mee pewJe-efjpeJe&, ‘Jeu[& vesšJeke&â
Dee@heâ yeeÙeesefmheâÙej efjpeJe&’ ceW Meeefceue veneR nQ?
(a) Sunderbans / megvojJeve
(b) Gulf of Mannar / cevveej keâer KeeÌ[er
(c) Nandadevi / vevoeosJeer
(d) Corbett / keâeyexš

43. Which of the fol low ing elecments has the atomic
num ber greater than that of Phos pho rus?
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efvecveefueefKele lelJeeW ceW mes keâewve-mee lelJe heâe@mheâesjme keâer leguevee ceW
DeefOekeâ hejceeCeg mebKÙee Jeeuee nw-
(a) Alu minium / SuÙegefceefveÙece
(b) Sil i con / efmeefuekeâe@ve
(c) Chlo rine / keäueesjerve
(d) Mag ne sium / cewivesefMeÙece

44. Mahamastakabhisheka, a great re li gious event,
is as so ci ated with and done for who of the
fol low ing ?
ceneved Oeeefce&keâ Iešvee, cenecemlekeâeefYe<eskeâ efvecveefueefKele ceW mes efkeâmemes
mecyeefvOele nw?
(a) Bahubali / yeengyeueer (b) Bud dha / yegæ
(c) Mahavirji / ceneJeerjpeer (d) Nataraja / vešjepe

45. Which coun try has launched the world's small est
and cheap est pri vate jet "Vi sion Jet"?
efJeMJe keâe meyemes Úesše Deewj meyemes memlee efvepeer pesš ’’efJepeve pesš’
efkeâme osMe ves uee@vÛe efkeâÙee nQ~
(a) United King dom / ÙetveeFšs[ efkebâie[ce
(b) Ja pan / peeheeve
(c) United States Amer ica / mebÙegkeäle jepÙe Decesefjkeâe
(d) China / Ûeerve

46. What are the two kinds of Ro ta tory mo tion?
IetCe&ve ieefle kesâ oes Øekeâej keâewve mes nQ?
(a) Spin and Vi bra tional mo tion / efmheve Deewj kebâheve ieefle
(b) Spin and Or bital mo tion / efmheve Deewj keâ#eerÙe ieefle
(c) Spin and Translatory mo tion / efmheve Deewj ™heebleefjle ieefle
(d) Spin and Pro jec tile mo tion / efmheve Deewj hesÇ#eshÙeieefle

47. Which of the fol low ing is known as the
"grave yard of RBCs'?

efvecveefueefKele ceW mes efkeâmes ‘ueeue jkeäle keâesefMekeâeDeeW kesâ keâefyeÇmleeve’ kesâ
™he ceW ceevee peelee nw?
(a) Spleen / hueerne
(b) Bone Mar row / DeefmLe ceppee
(c) Mi to chon dria / ceeFšeskeâe@efv[^Ùee
(d) Small in tes tine / Úesšer Deeble

48. Which of the fol low ing or gan isms are the sole
mem bers of King dom Monera?
efvecveefueefKele peerJeeW ceW mes keâewve ceesvesje Jeie& (efkebâie[ce) keâe Skeâcee$e
meomÙe nw ?
(a) Bac te ria / peerJeeCeg (b) Vi rus / (JeeÙejme)
(c) Fungi / (heâvpeeF) (d) Al gae / (Ssupeer)

49. A mo tion that seeks to re duce the amount of
de mand pre sented by goverment to Rs. 1/-is
known as
mejkeâej Éeje Øemlegle ceeBie keâer jeefMe Rs. 1 lekeâ keâer keâce keâjves mebyebOeer
ØemleeJe keâes keäÙee keânles nQ?
(a) dis ap proval of pol icy cut / hee@efuemeer ceW Demecceefle keâer keâšewleer
(b) To ken cut / šeskeâve keâšewleer
(c) Econ omy cut / efceleJÙeefÙelee keâšewleer
(d) Vote on ac count

50. Who is the ex po nent of the the ory of eco nomic
drain of In dia dur ing the Brit ish rule?
efyeÇefšMe Meemeve kesâ oewjeve Yeejle keâer DeeefLe&keâ efvekeâemeer kesâ efmeæeble kesâ
JÙeeKÙelee keâewve nQ?
(a) Dadabhai Naroji / oeoe YeeF& vejewpeer
(b) MN Roy / Sce Sve je@Ùe
(c) Jai Prakash Narayan / peÙe ØekeâeMe veejeÙeCe
(d) Ram Manohar Lohiya / jece ceesnve ueesefnÙee

 QUANTITATIVE APTITUDE
51. A num ber when di vided by 6 leaves re main der

3. When the square of the same num ber is
di vided by 6, the re main der is:
peye efkeâmeer mebKÙee ceW 6 mes Yeeie efoÙee peelee nw lees Mes<eheâue 3 Øeehle
neslee nw~ Ùeefo Gme mebKÙee kesâ Jeie& keâes 6 mes efJeYeeefpele efkeâÙee peeÙe lees
Øeehle Mes<eheâue nw:
(a) 0 (b) 2 (c) 1 (d) 3

52. Find the wrong num ber in the fol low ing num ber
se ries.
efvecveefueefKele mebKÙee ëe=bKeuee ceW ieuele mebKÙee keâe helee ueieeFS~
3 7 16 35 70 153
(a) 70 (b) 16 (c) 153 (d) 35

53. The av er ages of runs scored by a cricket player is
11 in nings is 63 and the av er age of his first six
in nings is 60 and the av er age of last six in nings
is 65. Find the runs scored by his in the sixth
in nings.
Skeâ ef›eâkesâšj Éeje 11 heeefjÙeeW ceW yeveeS ieS Deewmele jve 63 nQ SJeb
Gmekeâer ØeLece Ún heeefjÙeeW keâe Deewmele 60 nw SJeb Debeflece Ún heeefjÙeeW keâe
Deewmele 65 nw~ Gmekesâ Éeje Ú"er heejer ceW yeveeS ieS jve %eele keâerefpeS~
(a) 60 (b) 54 (c) 67 (d) 57

54. In a pa rade of school stu dents, the num ber of
boys and girls are in the ra tio of 9:7 re spec tively

and the num ber of stu dents is 256. Find the
num ber of girls.
Skeâ efJeÅeeueÙe kesâ efJeÅeeefLe&ÙeeW kesâ hejs[ ceW ueÌ[keâeW SJeb ueÌ[efkeâÙeeW keâer
mebKÙee keâe Devegheele ›eâceMe: 9 7: nw SJeb efJeÅeeefLe&ÙeeW keâer kegâue mebKÙee
256 nw~ ueÌ[efkeâÙeeW keâer mebKÙee %eele keâerefpeS~
(a) 102 (b) 112 (c) 118 (d)128

55. Two per sons ride to wards each other from two
places 55 km apart, one rid ing at 12 km/ hr and
the other at 10 km / hr. In what time will they be
11 km apart?
oes JÙeefkeäle 55 efkeâceer. he=Lekeâ oes mLeeveeW mes Skeâ otmejs keâer Deesj Skeâ ner
meceÙe ØemLeeve keâjles nQ~ Skeâ JÙeefkeäle keâer Ûeeue 12 efkeâceer./Iebše SJeb
otmejs keâer Ûeeue 10 efkeâceer./Iebše nw~ efkeâleves meceÙe yeeo Jes Skeâ otmejs mes
11 efkeâceer. he=Lece jnWies?
(a) 2 hrs and 30 min (b) 1 hrs and 30 min
(c) 2 hrs (d) 2 hrs and 45 min

56. A train 150m long passes a tele graphic post in 12
sec onds. Find the speed of the train. (in km/hr)
150 ceeršj uebyeer Skeâ jsueieeÌ[er šsueerheâesve kesâ Skeâ KebYes keâes 12
meskeâC[ ceW heej keâjleer nw~ jsueieeÌ[er keâer Ûeeue %eele keâerefpeS~
(efkeâceer./Iebše ceW)
(a) 50 (b) 12.5 (c) 25 (d) 45
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57. In an elec tion, a can di date se cures 40% of the
votes but is de feated by the only other can di date
by a ma jor ity of 298 votes. Find the to tal num ber
of votes re corded.
Skeâ ÛegveeJe ceW Skeâ GcceeroJeej 40% cele Øeehle keâjlee nw SJeb otmejs
GcceeroJeej mes 298 celeeW mes hejeefpele nes peelee nw~ celeoeve kesâ kegâue celeeW
keâer mebKÙee %eele keâerefpeS~
(a) 1580 (b)1490 (c) 1470 (d)1530

58. If x
x
1

2, then what is the value of x
x

2
2

1
?

Ùeefo x
x
1

2, lees x
x

2
2

1  keâe ceeve keäÙee nesiee?

(a) 4 (b) 5 (c) 3 (d) 6
59. The re spec tive ra tio be tween the height of tower

and the point at some dis tance from its foot is
5 3 5:  What will be the an gle ofelevation of the
top of the tower?
Skeâ ceerveej keâer TBÛeeFË SJeb Gmekesâ heeo mes kegâÚ otjer hej efmLele Skeâ efyevog
keâer otjer keâe Devegheele ›eâceMe: 5 3 5:  nw~ ceerveej keâer Meer<e& keâe GvveÙe
keâesCe keäÙee nesiee?
(a) 300 (b) 600 (b) 900 (c) 450

60. Suc ces sive dis counts of 20% and 10% are given
on an item marked at Rs. 700. Find the sell ing
price.
Skeâ Jemleg efpemekeâe Debefkeâle cetuÙe 700 ™heÙes nw, hej oes ›eâeefcekeâ yešddšs
›eâceMe: 20% SJeb 10% efoS peeles nQ~ Jemleg keâe efJe›eâÙe cetuÙe %eele
keâerefpeS~
(a) 504 (b) 196 (b) 582 (c) 601

61. The pop u la tion of a city is 20000. it in creases by
20% dur ing the first year and 30% dur ing the
sec ond year. the Pop u la tion af ter two years will
be:
Skeâ Menj keâer pevemebKÙee 20000 nw~ henues Je<e& FmeceW 20% keâer Je=efæ
nesleer nw SJeb otmejs Je<e& 30% keâer Je=efæ nesleer nw~ oes Je<e& yeeo Fme Menj
keâer pevemebKÙee nesieer
(a) 32000 (b)40000 (c) 31200 (d)30000

62. A re duc tion of 20% in the price of rice en ables a
buyer to buy 5 kg more for ru pees. 1200. the
re duced price per kg of rice will be:
ÛeeJeue kesâ cetuÙe ceW 20%  keâer keâceer nesves keâs Skeâ ›esâlee 1200
®heS ceW 5 efkeâuees«eece DeefOekeâ ÛeeJeue Kejero heelee nw~ ÛeeJeue keâe Ieše
ngDee cetuÙe Øeefle efkeâ«ee nesiee
(a) 36 (b) 45 (c) 48 (d)60

63. A man spends 60% of his in come on dif fer ence
items. His in come is in creased by 20% and his
ex pen di ture is also in creased by 10% Find the
per cent age derease in his sav ings?
Skeâ JÙeefkeäle Deheveer DeeÙe keâe 60% Yeeie efJeefYevve ceoeW hej Kejero
keâjlee nw~ Gmekeâer DeeÙe ceW 20% keâer Je=efæ nes peeleer nw SJeb Gmekesâ JÙeÙe
ceW Yeer 10% keâer Je=efæ nes peeleer nw~ Gmekeâer yeÛele ceW ØeefleMele keâceer %eele
keâerefpeS~
(a) 10% (b) 15% (c) 20% (d) 25%

64. The lengths of side AB and side BC of a sca lene
tri an gle ABC are 12 cm and 8 cm re spec tively.

The size of an gle C is 900 Find the ap prox i mate
length of side A.C
Skeâ efJe<eceyeeng ef$eYegpe keâer Yegpee AB  SJeb Yegpee BC keâer uebyeeF&
›eâceMe: 12 mesceer SJeb 8 mesceer nw~ ef$eYegpe keâe keâesCe C 900 nQ~ Yegpee
AC keâe ueieYeie ceeve %eele keâerefpeS~
(a) 12 (b) 9 (c) 14 (d) 16

65.
Find the value of

sin

cos sin

27

63

63

27

0

0

2 0

0

0
cos

sin

cos

27

63

0

0

2
cos63

27

0

0

2

sin
keâe ceeve %eele keâerefpeS~

( )a  0 (b) 2 (c) 3 (d)1
66. The sum of the ages of mother and her daugh ter

is 60 years. 12 years ago the mother was eight
times as old as her daugh ter. How old is the
daugh ter at pres ent?
Skeâ ceelee SJeb Gmekeâer heg$eer keâer Jele&ceeve GceüeW keâe Ùeesie 60 Je<e& nw~ 12
Je<e& hetJe& ceelee keâer Gceü heg$eer keâer Gceü keâer Dee" iegveer Leer~ heg$eer keâer Jele&ceeve
Gceü keäÙee nw?
(a) 20 Years /Je<e& (b) 28 years /Je<e&
(c) 16 Years /Je<e& (d) 12 Years /Je<e&

67. A boat goes at 14 kmph along the stream and 8
kmph against the stream. the speed of the boat
(in kmph) in still wa ter is:
Skeâ veeJe keâer DevegØeJeen Ûeeue 14 efkeâceer./Iebše SJeb TOJe&ØeJeen Ûeeue
8 efkeâceer./Iebše nw~ veeJe keâer Meeble peue ceW Ûeeue %eele keâerefpeS~
(efkeâceer./Iebše ceW)
(a) 12 kmph /efkeâceer./Iebše (b) 11 kmph/efkeâceer.Iebše
(c) 10 kmph efkeâceer/.Iebše (d) 8 kmph /efkeâceer.Iebše

68. A shop keeper buys 80 ar ti cles for Rs. 2400 and
sells them for a profit of 16% Find the sell ing
price of one ar ti cle.
Skeâ ogkeâeveoej ves 2400 ®heÙes ceW 80 JemlegSB Kejeroer SJeb meYeer
JemlegDeeW keâes 16% kesâ ueeYe hej yesÛe efoÙee~ ØelÙeskeâ Jemleg keâe efJe›eâÙe
cetuÙe %eele keâerefpeS~
(a) 36.40 (b) 34.80 (c) 35.60 (d) 33.80

69. Find the amount which Shyam will get on Rs.

4096, if he gives if for 18 months at 12
1
2

% per

an num, in ter est be ing com pounded half yearly.

MÙeece ves 4096 ®heÙes keâer OevejeefMe keâes 18 ceen kesâ efueS 12
1
2

%

Øeefle Je<e& keâer oj mes Deæ& Jeeef<e&keâ ®he mes mebÙeesefpele Ûe›eâJe=efæ yÙeepe
hej efveJesefMele efkeâÙee~ Øeehle OevejeefMe %eele keâerefpeS~
(a) 5,813 (b) 4,515 (c) 4,913 (d) 5,713

70. A work twice as fast as B. if B can com plete a
piece of work in de pend ently in 12 days, then
what will be the num ber of days taken by A and B
to gether to fin ish the work?
A B, keâer Dehes#ee ogiegvee keâeÙe& keâjlee nw~ Ùeefo B Dekesâues efkeâmeer keâece keâes
12 efove ceW hetje keâj mekeâlee nw lees A SJeb B efceuekeâj Gme keâece keâes
efkeâleves efove ceW meceehle keâjsies?
(a) 4 (b) 6 (c) 8 (d) 18
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Direction (71-73) : Study the following bardiagram carefully and
answer the questions
efveoxMe (71-73) : efvecve #eweflepe oC[ DeejsKe keâe DeOÙeÙeve keâerefpeS SJeb
efoS ieS ØeMveeW kesâ Gòej oerefpeS

71. The for eign ex change re serve in 2012 was how
many times that in 2009?
Je<e& 2012 ceW efJeosMeer cegõe Yeb[ej Je<e& 2009 kesâ efJeosMeer cegõe Yeb[ej
keâe efkeâlevee iegvee Lee?
(a) 0.7 (b) 1.2 (c) 1.4 (d) 1.5

72. What was the per cent age in crease in the for eign
re serves in 2012 over 2008?

Je<e& 2008 keâer Dehes#ee Je<e& 2012 ceW efJeosMeer cegõe Yeb[ej ceW efkeâleves
ØeefleMele keâer Je=efæ ngF& Leer?
(a) 100 (b)150 (c) 200 (d) 620

73. The ra tio of the num ber of years, in which the
for eign ex change re serves are above the av er age
reservbes, to those in which re serves are be low
the av er age re serves, is
efoS ieS Je<eeX kesâ oewjeve Deewmele efJeosMeer cegõe Yeb[ej mes DeefOekeâ cegõe
Yeb[ej Jeeues Je<eeX SJeb keâce cegõe Yeb[ej Jeeues Je<eex keâer mebKÙee kesâ ceOÙe
keäÙee Devegheele nw?
(a) 2:6 (b) 3:6 (c) 3:5 (d) 1:1

74. A well of di am e ter 3 m is dug 14m deep. The
earth taken out of it has been spread evenly all
around it in the shape of a cir cu lar ring of width
4m to form an em bank ment. Find the height of
the em bank ment.
Skeâ kegâDeeB efpemekeâe JÙeeme 3 ceeršj nw, 14 ceeršj ienje Keesoe peelee nw~
KegoeF& mes efvekeâeueer ieF& efcešddšer keâes kegâSb kesâ ÛeejeW Deesj 4 ueeršj ÛeewÌ[e
Je=òeekeâej lešyebOe yeveeves kesâ efueS meceeve ™he mes hewâueeÙee peelee nw~
lešyebOe keâer TBÛeeF& %eele keâerefpeS~
(a) 4.25m /ceeršj (b) 2.25m /ceeršj
(a) 1.125 m /ceeršj (d) 1.75 m /ceeršj

75. If x3
3

1
100

x
, then find the value of x

x
1

Ùeefo x
x

3
3
1

110 lees x
x
1 keâe ceeve %eele keâerefpeS~

(a) 2 (b) 2 (c) 4 (d) 5

 ENGLISH LANGUAGE
Direction : In the following question, the sentence given with
blank to be filled in with an appropriate word. Select the correct
alternative out of the four and indicate it by selecting the
appropriate option.

76. My hus band has listed me as the___of his life
in sur ance pol icy.
(a) suc ces sor (b) ben e fi ciary
(c) heir (d) in her i tor

Direction: Rearrange the parts of the sentence in correct order.
77. The ques tion

P. are on the right path Q. is whether we
R. to the goal
(a) RPQ (b) QRP (c) QPR (d) PRQ

Direction: In the following question, out of the four alternatives,
select the alternative which best expresses the meaning of the
idiom/ phrase.

78. Fuddyduddy
(a) An ill man nered per son that one ac cepts will ingly

be cause he/she is a very dear friend
(b) a per son who is very oldfashioned and pomp ous
(c) a shoddy work
(d) a very con fus ing sit u a tion

Direction: In the following question, out of the four alternatives,
select the alternative which best expresses the meaning of the
idiom/ phrase.

79. To foam at the mouth
(a) to be very an gry (b) to shout loudly
(c) to get very weak, dizzy (d) to die of poi son ing

Direction: In the following question, a sentence has been given in
Active/Passive voice. Out of four alternatives suggested, select
the one, which best expresses the same sentence in
Passive/Active voice.

80. They lock the door ev ery night.
(a) The door was be ing locked ev ery night by them.
(b) The door has been locked ev ery night by them.
(c) The door had been locked ev ery night by them.
(d) The door is locked ev ery night by them.

Direction: Improve the bracketed part of the sentence.
81. We (should had) the con fi dence that we will

surely suc ceed one day.
(a) could have (b) had to have
(c) must have (d) no im prove ment

Direction: In the following question, a sentence has been given in
Direct/Indirect speech. Out of the four alternatives suggested,
select the one, which best express the same sentence in
Indirect/Direct speech.
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82. Teacher said to chil dren, "Have you pre pared
well for the fi nals?"
(a) Teacher asked the chil dren whether they have

pre pared well for the fi nals.
(b) Teacher asked the chil dren whether they have been

pre par ing well for the fi nals.
(c) Teacher asked the chil dren if they did pre pare well for

the fi nals.
(d) Teacher asked the chil dren if they had pre pared well

for the fi nals.

Direction: In the following question, some part of the sentence
may have errors. Find out which part of the sentence has an error
and select the appropriate option. If a sentence is free from error,
select 'No Error'.

83. In spite of (a)/her ir ri ta tion, she (b)/could n't
help smile. (c)/No er ror (d)
(a) A (b) B (c) C (d) D

Direction (84-85): In the following question, out of the four
alternatives, select the alternative which is the best substitute of
the phrase.

84. To in vent (some thing) in or der to de ceive.
(a) to for mu late (b) to com pose
(c) to pro ject (d) to fab ri cate

85. Se lect the syn onym of nifty
(a) dandy (b) ob nox ious
(c) grody (d) gross

Direction (86-88): In the following question, out of the four
alternatives, select the alternative which is the best substitute of
the phrase.

86. To dis or der or dis ar range (some one's hair),
typ i cally by run ning one's hands through it.
(a) to tan gle (b) to crum ple (c) to ruf fle (d) to crease

87. Se lect the word with the cor rect spell ing.
(a) rocketted (b) bienial (c) ac tu a tor  (d) statuory

88. Se lect the word with the cor rect spell ing.
(a) bathetick (b) promotar (c) ilusive   (d) sad dlers

Direction: In the following question, some part of the sentence
may have errors. Find out which part of the sentence has an error
and select the appropriate option. If a sentence is free from error,
select 'No Error'.

89. Since they were all dressed up, (A)/she as sumed
they (B)/were go ing to church to gether. (C)/No
er ror (D)
(a) A (b) B (c) C (d) D

Direction(90-91): In the following question, sentence given with
blank is to be filled in with an appropriate word. Select the correct
alternative out of the four and indicate it by selecting the
appropriate option.

90. Since I for got about Jeetu's birth day last week, I
will send him a___greet ing to day.
(a) be lated (b) timely
(c) un punc tual (d) tardy

91. Se lect the ant onym of to am pu tate
(a) to sever (b) to fas ten
(c) to trun cate (d) to lop

Direction (92-93): Rearrange the parts of the sentence in correct
order.

92. En sur ing se cu rity
P. harder than hack ing into a sys tem
Q. of data, in for ma tion, and
R. com mu ni ca tion is con sid er ably
(a) RQP (b) RPQ (c) PRQ (d) QRP

93. Se lect the ant onym of vile
(a) vir tu ous (b) coarse (c) vi cious (d) ab ject

Direction (94-95): Improve the bracketed part of the sentence.
94. The guide's (knowl edge) of the his tory of the

mon u ment sur prised me.
(a) know ing (b) fa mil iar ity
(c) know how (d) no im prove ment

95. Se lect the syn onym of to visu al ise
(a) to re pu di ate (b) to an tic i pate
(c) to es chew (d) to scorn

Direction (96- 100): In the following passage, some of the words
have been left out. Read the passage carefully and select the
correct answer for the given blank out of the four alternatives.

Go ing ___ de fec tions, at tempts to top ple gov ern ments and
es tab lish gov ern ments, it is time to ask, ___ is the re la tion ship
be tween fed er al ism, States, rep re sen ta tive ___ and jus tice?
Jus tice fol lows only___ the wants of peo ple who have elected
rep re sen ta tives are ad dressed, and when these
rep re sen ta tives___ that their own sta tus is de riv a tive.
96. Go ing___ de fec tions, at tempts to top ple

gov ern ments and es tab lish gov ern ments
(a) away (b) be yond (c) far (d) over

97. ___is the re la tion ship be tween fed er al ism
(a) what (b) why (c) where (d) which

98. States, rep re sen ta tive___and jus tice?
(a) au toc racy (b) an ar chy
(c) de moc racy (d) ar is toc racy

99. Jus tice fol lows only___the wants of peo ple who
have elected rep re sen ta tives are ad dressed
(a) when (b) whether (c) as (d) then

100. and when these rep re sen ta tives___ that their
own sta tus is de riv a tive.
(a) ver ify (b) for get (c) di ag nose (d) re cog nise
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